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COMMERCE
(Regular)
Paper : COM-RC-4016
( Corporate Accounting)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :
1x10=10

were TMANERT Ron S Tes B

(a) Capital reserve arising out of revaluation
of assets is also available for issue of
bonus share.

(State whether the statement is true or
false)
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oo{f AR~ TE (A IR TS
Waﬁs@*iﬂaﬁ“waﬁmnﬁu
(&b 9% 1 S5% 4)

(b) The buy back of share does not exceed
per cent of the total paid up

capital and free reserves of the company.

(Fill in the blank)
SHIE ST IR T FRE @A I &
% Yo AMTIFS T % 9
fEF 2 FIRIE | (5T 912 979 )

(c) Remuneration paid to an auditor is
shown in the statement of Profit and
Loss as ‘other expenses’ under the main

head ' (Fill in the blank)
ool e AR 1 T S-S
e 3 o&S Sy 9%
f2piest (et =3 | (T 212 999 1)

(d) State onereason for issuing right shares
to the existing shareholders. '

O TLHHIFE FAeTS SEBIgS wexiolg Rfer
FHIT GBI g T 9 |

(e) Payment made to the creditors in final
settlement of the transferor company is
not included in purchase consideration
for amalgamation.

(State whether the statement is true or
false)
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BRI I TEIGIPE! AR ANGIEE
OIS {2515t fFovifeq A1t #fReety <53t 3F0 ST
AR G = |
(SfechrT wael o aomel [4ia9 1)
() In case of internal reconstruction only
the shareholders are required to
sacrifice.

(State whether the statement is true or
false)

S[OFES 14 A5 (S T ST LI Oyl
- AR FRA A (OfeDr o @ T F)
(g) In case of partly owned subsidiary the

question of minority shareholders will
not arise.

(State whether the statement is true or
false)
GRFFSIE SN (AN CFao SIS
N SRH|PG (IS R[S |

(Sfecor w% 1 srog f720)

(h) Under super profit method, valuation of
goodwill is based on the average
super profit earned by the business.

(Fill in the blank)

S S AR AT I QIR
e eors fefe o Al w1 2

(N1 212 %99 1)
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(i) “Financial gain is one of the advantages

of amalgamation.”
(State whether the statement is true or

false)

“SNfT TS TG 61 Sewpeiy
(Sf&th! &% (7 519 f74))

() Mention one mode through which
alteration of capital may be done by a

company.
PTG [T el B 211 G5t o1& fS Tzt
39|
2. Answer the following questions : 2x5=10
O ZPRITAIRE Te foralt ¢
(@) When and how profit is capitalised ?
(O A= (FEAP A TALNIP© 91 2T 2

(b) What is purchase consideration in the
content of amalgamation ?

GFIIR ARCeFFeS T Rgwar s B
e ?

(c) What is buy-back of shares ?
SR S @ Wit [ 9
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(d) Explain the treatment of ‘preliminary

(e)

expenses’ while preparing the final
accounts of a company.

AN pOI 5t ‘elfafes 253’ 25171 a2z
SIS N

What 1s cost of control in the accounts
of holding company ?

T (AN RRoiore Feages 3w e 52

3. Write brief answer of any four of the
following : S5x4=20

wete WAl Ricwiean 51f9brq R0 53 bes v 8

(@)

(b)

(c)

State the conditions to be fulfilled by a
company to buy-back its equity shares.

TP TG ST T IR AW A G5iR
9[F9 FR AN FORN S 41 |

Mention the purposes for which
‘securities premium reserve’ received by
a company can be utilized.

G5 @RI e afsefer wifigT s & &
T TR FRI AN, BE 90 |

How 1is a scheme of interval
reconstruction is prepared ?

SIS 27 107 SB[ (AT AFO TN W 2
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(d) The following is the extract of Trial
Balance of Prapti Limited as on 31-3-

2023 :

oifes FBETT 31-3-2023 ©IfKIT Tye

Remeiay SR et fra =7 ¢
Opening inventory (ST GO 21 18,200
Sales (R@3) | 2,73,000
Salary (7S%2) 5,000
Purchases (&) 2,15,500
Sales returns (R@7 &) 3,000
Dividend Received (eTeyis 2iife) 5,300
Import Licence fee (STMIA SgalIg e 2,400
Auditors fee ({2517l 291 MpeT) 1,000
Staff welfare expenses (5141 FNTET ) 2,000
Machinery (3Z#/if©) 71,000
Advertisement (Relo ) 4.300
Interest on debenture (495199 879 79) 1,000

You are required to prepare a statement
of Profit and Loss after considering the

following :

were ! TR Ko 3{F 93 - @ iwsH
gl e 1 ¢
Closing stock on 31.3.2023 is Rs.18,000.

31.3.2023 ©If{4® AT TG ofa5 18,000
G |
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(e) Pass Journal entries in the books of

transferee company under ‘purchase

method.’
PG G2 (I IRS T 2w Gl
o[ WAl

() The net assets of Prajapati Ltd. were
valued as goodwill Rs.28,200, fixed
assets Rs.9,00,000. It has the liabilities
as preference capital Rs.1,00,000.
debenture Rs.5,00,000, trade creditors
Rs.1,25,000. The company has 5,000
equity shares of Rs.10 each. Find out
the intrinsic value of one equity share

on net assets basis.

srgreiRe FIRCEER Yo F=IleT o7 UG, I
28,200 53, AT 7€ 9,00,000 B | 3T

TR 2o SelfERye e 1,00,000 o,
qa5g 5,00,000 BF, JIAT ATSTMIS

1,25,000 53 | =TI &St 10 THIC
5,000 336 Seiog TR | 5 TG oA
R b1 Treisiem 3G F T el 1 |
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4. Answer the following questions : (@any four,
. 10X4=40

et e U il 2 (Rizpieen BIfoT)
lowmg pbalances of Polok Ltd.

0023, prepare a Balance
ompanies Act, 2013 :

(a) From the fol
as on 31-3-
Sheet as per the C

31-3- 2023 SRS 2l TS T3 741 2013
o T S SRR AT FANCEeS Tye
Fferiq oo 91 8
24,000 Equity shares of Rs.100 each 24,00,000
2fSEBS 100 Bt 24,000 FHRH BK194
Sundry Creditors 3,20,000
iR st
ICICI Bank Loan 2,00,000
ICICI &% 34
Proposed Dividend 1,20,000
LSRRI
10% Debenture 10,00,000
10% 999
General Reserve 2,20,000
il offer
Securities Premium Reserve 1,20,000
afgfor e o
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Surplus in statement of Profit & Loss on 31.3.2023 6,40,000

Live Stock | 3,40,000
A

Land and Building 13,20,000
b 19 7

Cash Balance 2,00,000
R ERIR

Stock in trade 4,00,000
GG A

Loose Tools 2,40,000
451 T

Furniture 4,00,000
PRI

Plant and Machinery 14,00,000
g1 Y% TS

Sundry Debtors 5,40,000
Rfdy (g

Prepaid Rent 20,000
S e oYl

Investment 1,60,000
Rz
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You are required to prepare a Balance
Sheet of the company as per schedule
111 of the Companies Act, 2013.

0013 571 (TP S 1 11 TPt @3

Eriarickrir:cRall

(i) The existing shares to be made fully
paid up without the shareholders
having to pay anything.

(RPIT ST S AT T8 TP
seojef ARy 31 (YA A5

(i) Each shareholder to be given bonus
shares for the remaining amount.
The shares to be valued at Rs.125.

Give journal entries in the books of
the company for issuing bonus

shares.

31 23 7fer RfFTa S s diaes 7w
Q@6 S 73 il | seeTg 125 0
TETR R AR |

RIS S15el 31 3 TR0 @A 2
i &Rkf® M
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(b) The following are the Balance Sheets of
H Ltd. and its subsidiary S Ltd. as on
31st March, 2023 :

31.3.2023 siffys H @l o= S Ffsee
T Ffolq were frat 7 2
Amount (3

Particulars (R4 Hitd, | SLtd.
I. Equity and Liabilities
TR0 9% (PR
(1) Shareholders’ Funds :
BRI 7 o
(a) Share Capital (%% ) :
Equity shares of Rs. 10 each 1,20,000 | 40,000
w2t 10 Bl Wt
(b) Reserves and Surplus :
ERIER ,
Surplus in statement of Profit & Loss 10,000 4,000
ae-EwiR e e 9]
(2) Current Liabilities : Sundry Creditors 54,000 | 12,000
biete (i ¢ RRe stema

Total () 1,84,000 | 56,000

I1. Assets (F°6)

(a) Non-current Assets
IS A
Property and Equipment 1,36,000 | 56,000
w%m R

(b) Non-current [nvestment
wbIeTS T
Shares in S Ltd. 48,000 -
S ffibeq wi

Total (3) 184,000 | 56,000
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The shares were acquir ed by H Ltq. as
on 3lst March, 2023 prepare the

consolidated Balance Sheet of th,

holding company and its subsidiary a5
on 31st March, 2023.

023 579 31st 6 ©IfR¥® H TGS g
BT Sxlofd SifdaR (| 2023 B 31st
Wi ©if¥9® holding company <
subsidiary company < WW%"G
oS 4 |

(c) What is meant by valuation of shares ?

Explain the need for valuation of shares.
2+8=10

GR*G TETITA 0 S &l 2 S SeniE
NSRSV SN RS

(d) The following is the Balance Sheet of

Overconfident Ltd. as at 31st March
2023 :

31.3.2023 WIS GeRTARFTS B
W%ﬂmmﬁg

(Sem-4/CBCS) CAC/G 12



TS W

- Balance Sheet as on 31-03-2023

Yyeld 3103.2023

Particulars (Reaf%)

A

I. Equity and Liabilities
R (R
(1) Shareholders Fund
BRI e o
(a) Share Capital :
R S

90,000 Equity shares of Rs.10 each fully paid

ot 10 51t 90,000 2 v
45,000 Preference shares of Rs.10 each |
ferdl 10 5aiTs 45,000 SR Seeisig
(b) Reserves and Surplus :
e a0
 Surplus (Deficit in statement of Profit & Loss)
IR (- IR R )
(2) Non-current Liabilities e
oS Ol
Debentures
CoAg
(3 Current Liabilities
biere (7l
(a) Trade payables : Sundry creditors
e o & Rk e

Total (T0)
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9,00,000

4,50,000

(3,15,000]

1,35,000

1,15,000

12,85,000
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Particulars ()

R

11, Assets (71f6) :

(1) Non-current Assets

W T

@) Property and Equipment:
e O g &
Machinery (T#1fe)

(b)  Goodwill (W)

(c) Other Intangible Assets : Trade Mark
o o6 T s R T

(2) Current Assets (ofefe 746 -

(a) Inventory (F© %7)
(b) Trade receivables : Debtors

RS 2ol 3 (A

Total (%)

450,000
45,000
90,000

3,40,000
360,000

12,85,000

The company adopted the following
scheme of reconstruction :

@ITIGIE RS sasfon Sibi 229 0 8

() The equity shares were to be
reduced by Rs.5 each and the
preference share to Rs.6 each.

23 wdioE AfSTEr 5 Tt ZPT W
2fSU! SR @ Siesiolg 6 Bare el
A=A |

4 (Sem—-4/CBCS) CAC/G 14



(i1) SOOC!W_HI, deferred expenses and

eficit in statement of Profit & Loss

Were to be written off, machineries

to be depreciated by Rs.80,000,

inventory to be written off by

Rs.60,000 and provisions on
debtors to be kept for Rs.40,000.

I, Retfre 255 i et oo R
157 i st srf <k i 7
80,000 B w17« FoRire g FRI = |
TGS 60,000 B WRE [oice @il
IR =1 SR (IR @91 40,000 Gl
ALY e 51 BT A |

Pass Journal entries to record the
same and show the Balance Sheet
of company. 6+4=10

a7 fEpieiee FaR AW i AR
% R Tge [Ffo7a (ryedt |

(e) Explain the various methods of valuation
of Goodwill.

SIS e [Rfen a1

() Explain the meaning and objectives of

amalgamation of companies. 4+6=10
i Wt o SRR T
|
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(g) Discuss the procedure of igsue of bonus
shares. State the accounting entries to
be made in the books of the company
for issue of bonus shares. 4+6=10

25 Sl R ARFAPTZ SCEIH =1 10 S
RfmE @ @ IS et @leaw

AR fRTIE TE 4|

(h) (i) Explain briefly the amalgamation in
the nature of merger.
sifteal ogfet YFaees [T oeF
B\ [\ T -

(i) Distinguish between bonus shares
_and right shares.
SICACEC IR S | PR K R B = ICRU R
CIREREE 1oy
5+5=10




